I

1=y

DR 3 SLRLIE & SR NIV T3

PEARINZ AL 3P INNFERAST 1D Y 6K FIRERILEE

PEARIGESY LT I4EER 255 Z—t(:ﬁ%’)fﬂtgéiﬁﬁL%ﬁ’ﬁ
PEARINGEL P 29 AREFF 1050007855 B4

4 %%[&]109# 11 T12p 1098 R Y 1 EH 5 3 wzg,ﬁlh_zé's@
FAR109# 127 9pAEEF % 1090024362 54 %

CREEERAEEE @Wﬁrm’ﬁ@*ﬁﬁﬁ‘%‘ﬂwﬁgﬁi‘

AARG A FTECA fEE PP LR VAL LR TSR B

RS i44§4 B AR o

~ SR

(- EME =

(= )ALd et 2 3%

(ZH)=dh i

AR AT Z BT

(- )y}:ﬂ\*«—;\%# &R a2 B H - R iﬁﬁﬁé

(C)EAREBFFHLIFA w4 F Py E S fE 8 -

N ?‘ﬂ—& @ ET A EE

(- )‘?' FANE GHRFEALRIFERRF Y R AR 2o 2L -
§m7“4a§§$&%1%io

(Z)*EF 2 FEZ sk AL RS FRBERFL -

()@¢4$ﬁiﬁbhﬁﬁifr?%@%@QJﬁﬂJ’ﬁﬁ%FQJ
AL Jfﬂ —g"ﬁf"’rf =3

SRR R R ] F T @ Z e

N T

0.
(- VEFE ¥ 3 A RS F S RPPLBS R S - % rRE P
(Z )R A EE4 2 2P R AREF L R RARETERYP TR % 7
Jm PP o
AR BGGRLBEEF

’



TERE i 4 BP R NS B IR IRTERLE Y B L g
WALEF AR RE R RN ERELEE N B R L2 T8
RFIFZER T B2 v P2 22 12 v L7 222 o PIEPE BT ER
Fran A EP (BRI EEP )T R FL THERFRE RLF TN
L ‘”ﬁw AT o

(—)#F= (1T

._A

B Rs 3 ARl (iBTBO A (3 )11 -

]—&]Kf‘%"i ~ /P E%E(IELTS)5 0 &»(Z, )U P o

2,
3. % ¥ 1% (TOEIC)B00 A ()t b o
4.3 > F A 4 % (GEPT) B g 22( 5 )10 b o

(Z)p = (MT8H-)

. P24 pELPDERESF R 1954 ~ v Ea g S-2(3)1tF o

2. P R3Faw 4 @& JLPDON3(z )t o

(z)ie (1T )

1. =i 4 RlsFIPD L ES 84 105 4 ~ rigdd S-2(F ) o

2. THEREFHEF R M A i E TG 5 - % (DELF1) ()1t

()i~ (74— )

I % i 4 P (FLPTE 8 & A 195 4 ~ r a3 4 S-2(5 )t o

®E A st 2 (ZDaf)(ZD) (F)04 b o

2.
3. R ~FREL »FF2 /~,5§(DSH)$’F‘§.—%Z s BTl R P
FAFTRTERF A EP -

(15709 (U7 - )

1. #3719 3%F <+ pl%w3 (DELE) : 4% (Nivel Inicial) (Z )} o

2. @319 2 hiFa 4 PIRTLPD L@ 584 195 & ~ v 3% §-2 (7)

1. #8344 2pl% (TOPIK) 3 & (3 )1t «




